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R
ep

résentation
grap

h
iqu

e.
O

n
considère

une
v.a.r.

X
telle

que
X

,!
N

(m
,�

).
La

densité
d’une

telle
loiest

représentée
par

une
courbe

en
cloche.

⇥
D

ans
le

cas
d’une

loiN
(0,1),cette

cloche
est

centrée
en

0.
⇥

D
ans

le
cas

d’une
loiN

(m
,�

),cette
cloche

est
centrée

en
m

.
D

’autre
part,la

form
e

de
cette

cloche
(hauteur

et
largeur)

dépend
de

�
:

⇥
plus

�
est

petit,plus
le

pic
est

haut
et

fin
;

⇥
plus

�
est

grand,plus
le

pic
est

bas
et

large.
N

otez
que

l’aire
sous

la
courbe

entre
�
1

et
+
1

est
invariante

(on
a

toujours Z
+
1

�
1

f
X

(t)
d
t
=

1).

•
R

eprésentation
graphique

de
la

densité
f

X
de

la
loiN

(m
,�

).

0
m

1

� p
2⇡

m
=

2
�

=
1
.5

•
R

eprésentation
graphique

de
la

densité
f

X
de

la
loiN

(m
,�

).

0
m

1

� p
2⇡

m
=

2
�

=
0
.8

•
R

eprésentation
graphique

de
la

densité
f

X
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loiN

(m
,�
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E
xem

p
le

U
ne

v.a.r.
X

telle
que

X
,!

U
(J1

,5K)
adm

et-elle
une

densité?
R

appelons
la

fonction
de

répartition
d’une

telle
v.a.r.

0
1

2
3

4

1

5

•
Ici,

F
X

est
bien

C
1

sur
]�

1
,1

[[
]1,2

[[
]2,3

[[
]3,4[[

]4,5
[[

]5,+
1

[.

•
P
ar

contre,
F

X
n’est

pas
continue

sur
R

car
non

continue
en

les
x

i .

A
insi,siune

v.a.r.
d
iscrète

fi
n
ie

suit
une

loiuniform
e,alors

X
n’adm

et
pas

de
densité.

R
em

arqu
e

•
O

n
rappelle

que
la

form
e

en
escalier

est
caractéristique

des
fonctions

de
répartition

des
v.a.r.

discrètes.
La

hauteur
des

contrem
arches

est
égale

aux
valeurs

successives
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P
([X

=
x
]),pour

x
2

X
(⌦
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•
R
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:
F
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2
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P
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=
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=
0.

C
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X
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v.a.r.discrète

)
X
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pas
de

densité
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définition
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v.a.r.adm

ettant
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densité
étant

établie,ilnous
reste

à
défnir

la
notion
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densité

elle-m
êm

e.
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((
)

O
n

se
sert

icidu
fait

que
X

apparaît
com

m
e

transform
ée

affi
ne

de
la

v.a.r.
X

⇤.E
n

effet
:
X

=
�

X
⇤
+

m
(X

=
a
X

⇤
+

b
avec

a
=

�
et

b
=

m
).

O
n

en
déduit

que,pour
tout

x
2

R
,la

densité
de

probabilité
f

X
vérifie

:

f
X

(x
)

=
1|a|

f
X

⇤ ✓
x
�

b

a

◆
=

1�
f

X
⇤ ✓

x
�

m

�

◆

=
1�

1
p

2⇡
e �

12 (
x�

m
�

)
2

O
n

reconnaît
la

densité
de

probabilité
de

la
loi

norm
ale

de
param

ètre
(m

,�
).A

insi:
X

⇤
,!

N
(m

,�
).

T
h
éorèm

e
12.

Soit
X

une
v.a.r.

telle
que

X
,!

N
(m

,�
).

A
lors,

on
a

:

1)
X

adm
et

une
espérance.

2)
E

(X
)

=
m

(et
V

(X
)

=
�

2)

D
ém

onstration.
Ily

a
deux

m
anières

de
faire

cette
dém

onstration.

•
La

m
anière

directe
consiste

à
étudier Z

+
1

�
1

t
f

X
(t)

d
t

(bon
exercice).

•
La

seconde
m

anière
est

plus
élégante.E

lle
consiste

à
utiliser

le
théorèm

e

précédent.N
otons

X
⇤

=
X

�
m

�
.O

n
a

alors
X

=
�

X
⇤
+

m
.

P
ar

la
linéarité

(faible)
de

l’espérance,la
v.a.r.

X
⇤
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et
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espérance

donnée
par

:E
(X

⇤)
=

�
E

(X
)
+

m
=

�
⇥

0
+

m
=

m
.

(de
m

êm
e,V

(X
⇤)

=
�

2V
(X

)
=

�
2⇥

1
=

�
2)
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p
le

C
onsidérons

une
v.a.r.

X
dont

la
fonction

de
répartition

F
est

la
suivante.

0
5

1

C
ela

correspond
à

la
fonction

F
:
x
7!

8<:
0

si
x
2

]�
1

,0
[

x
/5

si
x
2

[0,5
]

1
si

x
2

]5,+
1

[

•
T
out

d’abord,
rem

arquons
que

cette
fonction

vérifie
bien

les
propriétés

caractéristiques
des

fonctions
de

répartitions.
⇥

F
est

croissante
sur

R
,

⇥
lim

x!
�
1

F
(x

)
=

0
et

lim
x!

+
1

F
(x

)
=

1,

⇥
F

est
continue

à
droite

en
tout

point
de

R
.

•
D

e
plus,la

v.a.r.
X

est
bien

une
v.a.r.à

densité
puisque

:
1)

F
est

continue
sur

R
,

2)
F

est
C

1
(m

êm
e

C
1

)
sur

]�
1

,0
[,

]0,5
[,

]5,+
1

[car
polynom

iale.
•

P
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u
n
e

densité
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X
,on

com
m

ence
par
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fonction
F

sur
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intervalles
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verts
]�

1
,0

[,
]0,5[,

]5,+
1

[.

f
:
x
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0

si
x
2
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1

,0
[

1
/5

si
x
2

]0,5
[

0
si

x
2
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1

[

E
n

choisissant
la

valeur
(forcém

ent
positive)

de
f

en
0

et
5,

on
définit

une
densité

de
X

.P
ar

exem
ple,on

peut
prendre

f
(0)

=
1/5

=
f
(5).

M
ais

on
pourrait

tout
autant

choisir
f
(0

)
=

32
et

f
(5

)
=

1
3 p

2
e
3

.
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s
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x �
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�
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)
d
t
=
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=
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=
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2

R
2
,
on

a
:

P(
[X

<
a
])

=
P(

[X
6

a
])

=

Z
a �
1

f X
(t

)
d
t

P(
[X

>
b]

)
=

1
�

P(
[X

6
b]

)
=

Z
+
1

b
f X

(t
)

d
t

5)
8(

a
,b

)
2

R
2
,
si

a
6

b,
on

a
:

P(
[a

<
X

6
b]

)
=

F
X

(b
)
�

F
X

(a
)

=

Z
b

a
f X

(t
)

d
t

P(
[a

<
X

<
b]

)
=

P(
[a

<
X

6
b]

)
=

P(
[a

6
X

<
b]

)
=

P(
[a

6
X

6
b]

)
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II.4.
L
oi

n
orm

ale
(ou

d
e

L
ap

lace-G
au

ss)

D
éfi

n
ition

•
O

n
dit

qu’une
v.a.r.

X
suit

la
loi

n
orm

ale
(ou

loi
d
e

L
ap

lace-G
au

ss)
d
e

p
aram

ètre
(m

,�
)

(avec
m

2
R

et
�

>
0)

si:

a)
X

(⌦
)

=
]�

1
,+

1
[

b)
X

adm
et

pour
densité

la
fonction

f
X

définie
par

:

f
X

:
R

!
R

x
7!

1

�
p

2
⇡

e �
12 (

x�
m

�
)
2

•
O

n
utilisera

la
notation

X
,!

N
(m

,�
)

pour
signifier

que
X

suit
la

loinorm
ale

de
param

ètre
(m

,�
).

R
em

arqu
e

•
L’expression

de
f

X
est

proche
de

celle
de

'
:on

obtient
f

X
(x

)
en

appli-
quant

à
x

un
transform

ation
affi

ne
(à

m
ultiplication

par
1�

près).
P

lus
précisém

ent,notons
t
:R

!
R

la
fonction

définie
par

8
x
2

R
,

t(x
)

=
x
�

m

�

O
n

a
alors

:
8
x
2

R
,

f
X

(x
)

=
1�
'
(t(x

)).

•
O

n
peut

se
servir

de
cette

propriété
pour

déduire
les

propriétés
de

f
X

de
celle

de
'
.P

ar
exem

ple,on
peut

vérifier
que

f
X

est
bien

une
densité

de
probabilité

:

1)
f

X
est

C
0

sur
R

com
m

e
com

posée
de

deux
fonctions

C
0

sur
R

2)
8
x
2

R
,
f

X
(x

)>
0

3)
Z

+
1

�
1

f
X

(x
)

d
x

=

Z
+
1

�
1

1�
'
(t(x

))
d
x

=
1�

Z
+
1

�
1

�
'
(u

)
d
u
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D
ém

onstration.

P
our

faire
cette

dém
onstration,

on
se

place
dans

le
cadre

restreint
:

on
suppose

que
F

X
est

C
1

sur
R

tout
entier

et
que

f
X

=
F

0X
sur

R
.A

insila
densité

f
X

est
supposée

C
0

sur
R

.

1)
Soit

x
2

R
.N

otons
U

la
fonction

définie
par

U
(y

)
=

Z
x

y
f

X
(t)

d
t
pour

y
6

0.O
n

a
alors

:

U
(y

)
=

Z
x

y
f

X
(t)

d
t

=

Z
x

y
F

0X
(t)

d
t

=
[
F

X
(t)

] xy

=
F

X
(x

)�
F

X
(y

)
�!

y!
�
1

F
X

(x
)

E
n

effet,
lim

y!
�
1

F
X

(y
)

=
0

par
propriété

des
fonctions

de
répartition.

O
n

en
déduit

que
Z

x

�
1

f
X

(t)
d
t

est
convergente

et
de

valeur
:

Z
x

�
1

f
X

(t)
d
t

=
F

X
(x

)
=

P
([X

6
x
])

2)
N

otons
V

la
fonction

définie
par

V
(y

)
=

Z
y

0
f

X
(t)

d
t

pour
y
>

0.

V
(y

)
=

Z
y

0
f

X
(t)

d
t

=

Z
y

0
F

0X
(t)

d
t

=
[
F

X
(t)

] y0

=
F

X
(y

)�
F

X
(0)

�!
y!

+
1

1�
F

X
(0)

E
n

effet,
lim

y!
+
1

F
X

(y
)

=
1

par
propriété

des
fonctions

de
répartition.

O
n

en
déduit

que
Z

+
1

0
f

X
(t)

d
t

est
convergente

et
de

valeur
:

Z
+
1

0
f

X
(t)

d
t

=
1�

F
X

(0
)
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lir
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�
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.6
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⇥
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sé
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e

la
lig

ne
1
.6

⇥
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sé
le

ct
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nn
e

al
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s
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lo

nn
e

0.
04

O
n

lit
la

va
le

ur
de

la
ce

llu
le

l’i
nt

er
se
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io

n
de

ce
tt

e
lig

ne
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co
lo

nn
e.

O
n

lit
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(1
.6

4)
=

0
.9

49
5

(l
a

pr
ob

ab
ili
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de

l’é
vé

ne
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en
t

[X
6

1.
64

]
es

t
d’

en
vi

ro
n

95
%

)

•
P
ar

ex
em

pl
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po
ur

lir
e

la
va

le
ur

de
�

(�
0.

81
)

O
n

ut
ili

se
la

fo
rm

ul
e

:�
(�

0
.8

1)
=

1
�

�
(0

.8
1)

O
n

lit
al

or
s

:�
(�

0.
81

)
=

1
�

0
.7

88
1

=
0.

21
19

(l
a

pr
ob
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té
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l’é
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ne
m
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t
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6

�
0
.8
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n
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%
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O
r,

d’
ap

rè
s

le
po

in
t

pr
éc

éd
en

t,
Z

0 �
1

f X
(t

)
d
t

co
nv

er
ge

et
va

ut
F

X
(0

).

O
n

en
dé

du
it

qu
e
Z

+
1

�
1

f X
(t

)
d
t
co

nv
er

ge
et

va
ut

:F
X

(0
)+

1
�

F
X

(0
)

=

1.
3)

So
it

x
2

R
.D

e
pa

r
le

ch
ap

it
re

su
r

le
s

va
ri

ab
le

s
al

éa
to

ir
es

(C
H

2
0)

,o
n

a
:

li
m

t!
x
�

F
X

(t
)

=
F

X
(x

)
�

P(
[X

=
x
])

=
P(

[X
<

x
])

O
r

X
es

t
un

e
v.

a.
r.

à
de

ns
it

é.
D

on
c

F
X

es
t

un
e

fo
nc

ti
on

co
nt

in
ue

su
r

R
.E

lle
es

t
do

nc
,a

fo
rt

io
ri

,c
on

ti
nu

e
à

ga
uc

he
en

x
.

O
n

en
dé

du
it

:
li
m

t!
x
�

F
X

(t
)

=
F

X
(x

)
et

do
nc

:P
([

X
=

x
])

=
0
.

4)
So

it
(a

,b
)
2

R
2
.P

ar
l’é

ga
lit

é
(e

nc
ad

ré
e)

pr
éc

éd
en

te
,o

n
a

:

P(
[X

<
a
])

=
F

X
(a

)
�

P(
[X

=
a
])

=

Z
a �
1

f X
(t

)
d
t

D
’a

ut
re

pa
rt

:[
X

>
b]

=
[X

6
b]

et
do

nc
:P

([
X

>
b]

)
=

1
�

P(
[X

6
b]

).

P(
[X

>
b]

)
=

1
�

P(
[X

6
b]

)
=

Z
+
1

�
1

f X
(t

)
d
t
�
Z

b �
1

f X
(t

)
d
t

=

Z
b �
1

f X
(t

)
d
t
+

Z
+
1

b
f X

(t
)

d
t
�
Z

b �
1

f X
(t

)
d
t

5)
So

it
(a

,b
)
2

R
2

te
lq

ue
a
6

b.
O

n
a

al
or

s
:

P(
[a

<
X

6
b]

)
=

F
X

(b
)
�

F
X

(a
)

=

Z
a �
1

f X
(t

)
d
t
+

Z
b

a
f X

(t
)

d
t
�
Z

a �
1

f X
(t

)
d
t

La
pr

em
iè

re
ég

al
it

é
es

t
vé

ri
fié

e
po

ur
to

ut
e

fo
nc

ti
on

de
ré

pa
rt

it
io

n
(c

f
C
H

20
).

D
’a

ut
re

pa
rt

,
on

a
:

[a
<

X
6

b]
=

[a
<

X
<

b]
[

[X
=

b]
,

un
io

n
d’

év
én

em
en

ts
in

co
m

pa
ti

bl
es

.O
n

en
dé

du
it

:

P(
[a

<
X

6
b]

)
=

P(
[a

<
X

<
b]

)
+

P(
[X

=
b]

)

Le
s

au
tr

es
ég

al
it

és
so

nt
dé

m
on

tr
ée

s
de

la
m

êm
e

fa
ço

n.
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T
ab

le
d
e

la
loi

n
orm

ale
centrée

réd
u
ite.

O
n

utilise
parfois

(notam
m

ent
en

statistiques),des
tables

contenant
les

va-
leurs

caractéristiques
de

certaines
lois

usuelles.La
table

ci-dessous
contient

les
valeurs

de
�

,fonction
de

répartition
de

la
loinorm

ale
centrée

réduite.

�
(t)

=
P
([X

6
t])

=

Z
t

�
1

1
p

2⇡
e �

u
22
d
u

t
0.00

0.01
0
.02

0.03
0.04

0
.05

0
.06

0.07
0
.08

0
.09

0.0
0
.5

000
0.5

040
0.5

08
0

0
.5

120
0.5

160
0.51

99
0
.52

39
0
.52

79
0.5319

0.5359
0.1

0
.5

398
0.5

438
0.5

47
8

0
.5

517
0.5

557
0.55

96
0
.56

36
0
.56

75
0.5714

0.5753
0.2

0
.5

793
0.5

832
0.5

87
1

0
.5

910
0.5

948
0.59

87
0
.60

26
0
.60

64
0.6103

0.6141
0.3

0
.6

179
0.6

217
0.6

25
5

0
.6

293
0.6

331
0.63

68
0
.64

06
0
.64

43
0.6480

0.6517
0.4

0
.6

554
0.6

591
0.6

62
8

0
.6

664
0.6

700
0.67

36
0
.67

72
0
.68

08
0.6844

0.6879
0.5

0
.6

915
0.6

950
0.6

98
5

0
.7

019
0.7

054
0.70

88
0
.71

23
0
.71

57
0.7190

0.7224
0.6

0
.7

257
0.7

291
0.7

32
4

0
.7

357
0.7

389
0.74

22
0
.74

54
0
.74

86
0.7517

0.7549
0.7

0
.7

580
0.7

611
0.7

64
2

0
.7

673
0.7

704
0.77

34
0
.77

64
0
.77

94
0.7823

0.7852
0.8

0
.7

881
0.7

910
0.7

93
9

0
.7

967
0.7

995
0.80

23
0
.80

51
0
.80

78
0.8106

0.8133
0.9

0
.8

159
0.8

186
0.8

21
2

0
.8

238
0.8

264
0.82

89
0
.83

15
0
.83

40
0.8365

0.8389

1.0
0
.8

413
0.8

438
0.8

46
1

0
.8

485
0.8

508
0.85

31
0
.85

54
0
.85

77
0.8599

0.8621
1.1

0
.8

643
0.8

665
0.8

68
6

0
.8

708
0.8

729
0.87

49
0
.87

70
0
.87

90
0.8810

0.8830
1.2

0
.8

849
0.8

869
0.8

88
8

0
.8

907
0.8

925
0.89

44
0
.89

62
0
.89

80
0.8997

0.9015
1.3

0
.9

032
0.9

049
0.9

06
6

0
.9

082
0.9

099
0.91

15
0
.91

31
0
.91

47
0.9162

0.9177
1.4

0
.9

192
0.9

207
0.9

22
2

0
.9

236
0.9

251
0.92

65
0
.92

79
0
.92

92
0.9306

0.9319
1.5

0
.9

332
0.9

345
0.9

35
7

0
.9

370
0.9

382
0.93

94
0
.94

06
0
.94

18
0.9429

0.9441
1
.6

0
.9

452
0.9

463
0.9

47
4

0
.9

484
0
.94

95
0.95

05
0
.95

15
0
.95

25
0.9535

0.9545
1.7

0
.9

554
0.9

564
0.9

57
3

0
.9

582
0.9

591
0.95

99
0
.96

08
0
.96

16
0.9625

0.9633
1.8

0
.9

641
0.9

649
0.9

65
6

0
.9

664
0.9

671
0.96

78
0
.96

86
0
.96

93
0.9699

0.9706
1.9

0
.9

713
0.9

719
0.9

72
6

0
.9

732
0.9

738
0.97

44
0
.97

50
0
.97

56
0.9761

0.9767

2.0
0
.9

772
0.9

778
0.9

78
3

0
.9

788
0.9

793
0.97

98
0
.98

03
0
.98

08
0.9812

0.9817
2.1

0
.9

821
0.9

826
0.9

83
0

0
.9

834
0.9

838
0.98

42
0
.98

46
0
.98

50
0.9854

0.9857
2.2

0
.9

861
0.9

864
0.9

86
8

0
.9

871
0.9

875
0.98

78
0
.98

81
0
.98

84
0.9887

0.9890
2.3

0
.9

893
0.9

896
0.9

89
8

0
.9

901
0.9

904
0.99

06
0
.99

09
0
.99

11
0.9913

0.9916
2.4

0
.9

918
0.9

920
0.9

92
2

0
.9

925
0.9

927
0.99

29
0
.99

31
0
.99

32
0.9934

0.9936
2.5

0
.9

938
0.9

940
0.9

94
1

0
.9

943
0.9

945
0.99

46
0
.99

48
0
.99

49
0.9951

0.9952
2.6

0
.9

953
0.9

955
0.9

95
6

0
.9

957
0.9

959
0.99

60
0
.99

61
0
.99

62
0.9963

0.9964
2.7

0
.9

965
0.9

966
0.9

96
7

0
.9

968
0.9

969
0.99

70
0
.99

71
0
.99

72
0.9973

0.9974
2.8

0
.9

974
0.9

975
0.9

97
6

0
.9

977
0.9

977
0.99

78
0
.99

79
0
.99

79
0.9980

0.9981
2.9

0
.9

981
0.9

982
0.9

98
2

0
.9

983
0.9

984
0.99

84
0
.99

85
0
.99

85
0.9986

0.9986

F
ig.

1
T
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N
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R
em

arqu
e

•
C

e
théorèm

e
illustre

l’intérêt
des

v.a.r.à
densité

:on
obtient

la
valeur

de
la

fonction
de

répartition
F

X
et

donc
la

loide
X

sous
form

e
d’un

calcul
d’intégrales

(éventuellem
ent

im
propres).

•
N

ous
avons

obtenu
des

résultats
analogues

dans
le

chapitre
précédent.

C
as

discret
(v.a.r.discrète)

C
as

continu
(v.a.r.à

densité)

P
([X

6
b])

P
x2

X
(⌦

)

x6
b

P
([X

=
x
])

Z
b

�
1

f
X

(t)
d
t

P
([a

6
X

6
b])

(avec
a
6

b)

P
x2

X
(⌦

)

a6
x6

b

P
([X

=
x
])

Z
b

a
f

X
(t)

d
t

P
([a

6
X

6
b])

(avec
a
6

b)
F

X
(b)�

F
X

(a
)
+

P
([X

=
a
])

F
X

(b)�
F

X
(a

)

P
(⌦

)
=

1
P

x2
X

(⌦
)

P
([X

=
x
])

=
1

Z
+
1

�
1

f
X

(t)
d
t
=

1

R
égularité

de
F

X

E
n

tout
point

x
2

R
:

•
F

X
continue

à
droite

en
x

•
F

X
adm

et
une

lim
ite

finie
à

gauche
en

x

F
X

continue
sur

R
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s
F

Y
la

fo
nc

ti
on

de
ré

pa
rt

it
io

n
de

Y
.

8x
2

R
,

F
Y

(x
)

=
P(

[Y
6

x
])

=
P(

[a
X

+
b
6

x
])

=
P(

[a
X

6
x
�

b]
)

O
n

do
it

al
or

s
di

st
in

gu
er

de
ux

ca
s

:

1)
Si

a
>

0,
al

or
s

:F
Y

(x
)

=
P
✓

X
6

x
�

b

a

�◆
=

F
X

✓
x
�

b

a

◆

2)
Si

a
<

0
,a

lo
rs

:

F
Y

(x
)

=
P
✓

X
>

x
�

b

a

�◆
=

1
�

P
✓

X
<

x
�

b

a

�◆

=
1
�

F
X

✓
x
�

b

a

◆

O
r

la
fo

nc
ti

on
x
7!

x
�

b

a
es

t
C

1
su

r
R

.L
a

fo
nc

ti
on

F
X

ét
an

t
la

fo
nc

ti
on

de
ré

pa
rt

it
io

n
d’

un
e

v.
a.

r.
à

de
ns

it
é,

on
sa

it
qu

e
F

X
es

t
C

0
su

r
R

et
C

1

sa
uf

en
un

no
m

br
e

fin
i
de

po
in

ts
.
P
ar

co
m

po
si

ti
on

,
on

en
dé

du
it

qu
e

F
Y

es
t

C
0

su
r

R
et

C
1

sa
uf

en
un

no
m

br
e

fin
id

e
po

in
ts

.O
n

en
dé

du
it

qu
e

Y
es

t
un

e
v.

a.
r.

à
de

ns
it

é.
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T
h
éorèm

e
9.

Soit
X

une
v.a.r.

à
densité.

X
suit

une
loi

exponentielle
si

et
seulem

ent
si

:

1)
X

(⌦
)

=
R

+

2)
8
(s,t)2

R
+
⇥

R
+
,

P
[X

>
s] ([X

>
s

+
t])

=
P
([X

>
t])

(on
dit

que
la

loi
exponentielle

est
sans

m
ém

oire)

3)
8
s2

R
+
,

P
([X

>
s])6=

0

D
ém

onstration.
()

)
S’ilexiste

↵
>

0
telque

X
,!

E
(↵

)
alors

:
1)

X
(⌦

)
=

R
+

(par
définition),

2)
P

[X
>

s] ([X
>

s
+

t])
=

P
([X

>
s]\

[X
>

s
+

t])

P
([X

>
s])

=
P
([X

>
s

+
t])

P
([X

>
s])

E
n

effet,
[X

>
s

+
t]✓

[X
>

s].O
r

on
a

:

P
([X

>
s])

=
1�

P
([X

6
s])

=
1�

F
X

(s)
=

1�
(1�

e �
↵

s)
=

e �
↵

s

A
insi:P

[X
>

s] ([X
>

s
+

t])
=

e �
↵
(s+

t)

e �
↵

s
=

e �
↵

t
=

P
([X

>
t]).

3)
Si

s2
R

+
,P

([X
>

s])
=

e �
↵

s
>

0.
((

)
C

e
résultat

plus
com

pliqué
nécessite

de
savoir

résoudre
une

équation
fonctionnelle.P

lus
précisém

ent,si
G

est
une

fonction
G

:R
+
!

R
+
,on

a
:

•
8
(s,t)2

(R
+
)
2,

G
(s

+
t)

=
G

(s)
G

(t)

•
G

(1)6=
0

•
G

est
décroissante

sur
R

+

9>>=>>;
)

9
↵
2

R
+
,

8
t2

R
+
,

G
(t)

=
e �

↵
t

E
n

notant
G

:R
+
!

R
+

la
fonction

définie
par

G
(t)

=
P
([X

>
t])

(pour
t2

R
+
),on

dém
ontre

que
G

vérifie
les

propriétés
ci-dessus

et
ainsique

:

F
X

(t)
=

P
([X

6
t])

=
1�

P
([X

>
t])

=
1�

G
(t)

=
1�

e �
↵

t
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D
éterm

inons
une

densité
de

Y
.

1)
Si

a
>

0,alors
:
F

0Y
(x

)
=

1a
F

0X

✓
x
�

b

a

◆
=

1a
f

X

✓
x
�

b

a

◆

2)
Si

a
<

0,alors
:
F

0Y
(x

)
=

�
1a

F
0X

✓
x
�

b

a

◆
=

�
1a

f
X

✓
x
�

b

a

◆

O
n

en
conclut

qu’une
densité

de
Y

est
donnée

par
:
x
7!

1|a|
f

X

✓
x
�

b

a

◆
.

R
em

arqu
e

•
P
eut-on

généraliser
cette

propriété
:si

X
et

Y
sont

des
variables

à
den-

sité,la
v.a.r.

X
+

Y
est-elle

à
densité?

NON
!

on
peut

par
exem

ple
considérer

:

⇥
une

v.a.r.
X

suivant
une

loiuniform
e

sur
[0,1

](définition
à

suivre),

⇥
et

la
v.a.r.

Y
donnée

par
Y

=
1�

X
.

A
lors

X
+

Y
=

1,ce
quim

ontre
que

X
(⌦

)
=

{1}.
A

insi,
X

+
Y

n’adm
et

pas
de

densité
en

tant
que

v.a.r.discrète
(finie).

•
L’ensem

ble
des

v.a.r.à
densité

n’est
donc

pas
stable

par
addition.

D
e

ce
fait,ce

n’est
pas

un
espace

vectoriel.
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si
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[
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�

e�
↵

x
si
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D
ém
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ra
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.
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it
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da
ns
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e

pr
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en
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.

T
h
éo
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m

e
8.

So
it

X
un

e
v.

a.
r.

te
lle

qu
e

X
,!

E
(↵

)
(a

ve
c
↵

>
0
).

A
lo

rs
,
on

a
:

1)
X

ad
m

et
un

e
es

pé
ra
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e.

2)
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X
)

=
1 ↵

D
ém

on
st

ra
ti
on

.

1)
N

ot
on

s
U

(y
)

=

Z
y �
1

tf
(t

)
d
t
=

Z
y

0
tf

(t
)

d
t

po
ur

y
>

0.

O
n

eff
ec

tu
e

un
e

in
té

gr
at

io
n

pa
r

pa
rt

ie
s

:
u

=
t

u
0 =

1

v
0 =

e�
↵

t
v

=
�

e�
↵

t

↵

.

U
(y

)
=

Z
y

0
tf

(t
)

d
t

=
�

1 ↵

⇥ t
e�

↵
t
⇤ y 0

+
1 ↵

Z
y

0
e�

↵
t
d
t

=
1 ↵

((
�

y
e�

↵
y

+
0)

+
(�

e�
↵

y
+

1)
)

�!
y
!

+
1

1 ↵

E
n

eff
et

,
li
m

y
!

+
1

�
y

e�
↵

y
=

0
et

li
m

y
!

+
1

�
e�

↵
y

=
0.

2)
O

n
en

dé
du

it
:E

(X
)

=
1 ↵

.
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3.

b
)

T
ra

n
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or
m

at
io

n
p
ol
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(c
ar

ré
)

T
h
éo

rè
m

e
4.

So
it

X
un

e
v.

a.
r.

à
de

ns
it
é

f X
.

1)
La

va
r

Y
=

X
2

es
t
un

e
v.

a.
r.

à
de

ns
it
é.

2)
D

e
pl

us
,
sa

de
ns

it
é

es
t
do

nn
ée

pa
r

:

f Y
:
x
7!

8 < :
0

si
x

<
0

1

2
p

x
(f

X
(p

x
)
+

f X
(�

p
x
))

si
x

>
0

D
ém

on
st

ra
ti
on

.
La

dé
m

on
st

ra
ti

on
es

t
an

al
og

ue
à

la
dé

m
on

st
ra

ti
on

pr
éc

éd
en
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.

•
Si

x
<

0
:[

Y
6

x
]
=
⇥ X

2
6

x
⇤ =

?
,

et
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s

:F
Y

(x
)

=
P(
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6

x
])

=
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?
)

=
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•
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x
>

0
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Y
6

x
]
=
⇥ X

2
6

x
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p

x
6

X
6

p
x
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et
al
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F
Y

(x
)

=
P(

[Y
6

x
])

=
P(

[�
x
6

X
6

x
])

=
F

X
(p

x
)�

F
X

(�
p

x
).

La
fo

nc
ti

on
F

Y
es

t
C

1
su

r
]�

1
,0

[
(c

ar
co

ns
ta

nt
e

su
r

ce
t

in
te

rv
al

le
).

Su
r
]0

,+
1

[,
F

Y
es

t
ob

te
nu

e
co

m
m

e
co

m
po

sé
e

de
la

fo
nc

ti
on

F
X

qu
ie

st
C

1

su
r

R
sa

uf
(é

ve
nt

ue
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m
en

t)
en

un
no

m
br

e
fin

id
e

po
in

ts
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de
la

fo
nc

ti
on

x
7!

p
x

qu
ie

st
C

1
su

r
]0
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1

[.
A

in
si

,F
Y

es
t

C
1

su
r

R
sa

uf
(é

ve
nt

ue
lle

m
en

t)
en

un
no

m
br

e
fin

id
e

po
in

ts
.

E
nfi

n,
en

to
ut

po
in

t
x

>
0

où
F

Y
es

t
dé

ri
va

bl
e,

on
a

:

F
0 Y
(x

)
=

1

2
p

x
F

0 X
(p

x
)
�
✓ �

1

2p
x

F
0 X
(�

p
x
)◆

=
1

2
p

x
f X

(p
x
)
�

1

2
p

x
f X

(�
p

x
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=
1

2
p

x
(f

X
(p

x
)
+

f X
(�

p
x
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F

0 Y
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)
=

0
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x

<
0.

15



E
C

E
1-B

2015-2016

II.2.
L
oi

exp
on

entielle

D
éfi

n
ition

•
O

n
dit

qu’une
v.a.r.

X
suit

la
loi

exp
on

entielle
d
e

p
aram

ètre
↵

(avec
↵

>
0)

si:

a)
X

(⌦
)

=
[0,+

1
[

b)
X

adm
et

pour
densité

la
fonction

f
définie

par
:

f
:

R
!

R

x
7!

8<:
↵

e �
↵

x
si

x
2

[0,+
1

[

0
sinon

•
O

n
utilisera

la
notation

X
,!

E
(↵

)
pour

signifier
que

X
suit

la
loi

exponentielle
de

param
ètre

↵
.

R
em

arqu
e

•
O

n
vérifie

aisém
ent

que
f

est
bien

une
densité

de
probabilité

:

1)
f

est
continue

sur
]�

1
,0[[

]0,+
1

[

2)
8
x
2

R
,
f
(x

)>
0

3)
Z

+
1

�
1

f
(t)

d
t
=

Z
+
1

0
f
(t)

d
t

converge.E
n

effet,si
y
>

0
:

Z
y

0
f
(t)

d
t

=

Z
y

0
↵

e �
↵

t
d
t

=
↵

Z
y

0
e �

↵
t
d
t

=
↵


�

e �
↵

t

↵

�
y0

=
�

e �
↵

y
+

e
↵
0

=
�

e �
↵

y
+

1
�!

y!
+
1

1

O
n

en
déduit

: Z
+
1

�
1

f
(t)

d
t
=

1.
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I.4.
E
sp

éran
ce

d
’u

n
e

v.a.r.
à

d
en

sité

D
éfi

n
ition

Soit
X

une
v.a.r.de

densité
f

X
.

•
O

n
dit

que
X

adm
et

une
espérance

E
(X

)
sil’intégrale Z

+
1

�
1

x
f

X
(x

)
d
x

est
absolum

ent
convergente.

•
D

ans
ce

cas,
E

(X
)

=

Z
+
1

�
1

x
f

X
(x

)
d
x

R
em

arqu
e

•
Il

faut
bien

com
prendre

que,
m

êm
e

si
la

notation
est

la
m

êm
e

que
pré-

cédem
m

ent
(E

(X
)),nous

venons
de

définir
un

nouvelopérateur
quiagit

sur
les

v.a.r.à
densité

et
plus

sur
les

v.a.r.discrètes.

•
Iln’y

a
donc

pas
de

raison
pour

que
les

propriétés
classiques

de
l’opéra-

teur
espérance

des
v.a.r.discrètes

soient
vérifiées

pour
l’opérateur

espé-
rance

des
v.a.r.à

densité.

•
U

ne
propriété

aussisim
ple

que
la

linéarité
et

notam
m

ent
l’égalité

:

E
(X

+
Y

)
=

E
(X

)
+

E
(Y

)

est
problém

atique.E
n

effet,on
a

vu
que

m
êm

e
si

X
et

Y
sont

à
densité,

X
+

Y
ne

l’est
pas

forcém
ent.Ilfaut

donc
se

dem
ander

ce
que

représente
les

différents
sym

boles
E

de
cette

égalité
...

•
E

n
fait,ilexiste

une
théorie

perm
ettant

d’unifier
sous

une
m

êm
e

écriture
le

cas
discret

et
le

cas
continu.

T
outefois,

c’est
hors

de
notre

portée
et

nous
n’en

dirons
donc

pas
plus.
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d
u

+

Z
+
1

�
b a

f Y
(u

)
d
u

!

=
a

Z
+
1

�
1

u
f Y

(u
)

d
u

|
{z

}
E(

X
)

+
b

Z
+
1

�
1

f Y
(u

)
d
u

|
{z

}
1
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E
C

E
1-B

2015-2016

R
em

arqu
e

•
Le

théorèm
e

5
peut

être
vu

com
m

e
un

cas
particulier

du
théorèm

e
de

transfert
en

prenant
l’application

g
:
x
7!

(x
�

E
(X

))
2.

T
h
éorèm

e
6.

Form
ule

de
K

œ
nig-H

uygens
Soit

X
une

v.a.r.
à

densité.
O

n
suppose

que
X

adm
et

une
espérance

E
(X

).

La
v.a.r.

X
adm

et
une

variance
,

La
v.a.r.

X
adm

et
un

m
om

ent
d’ordre

2

E
t
dans

ce
cas

:
V

(X
)

=
E

(X
2)�

(E
(X

))
2

D
ém

onstration.
La

v.a.r.
X

adm
et

une
variance

SSI
la

v.a.r.
Y

=
X

�
E

(X
)

adm
et

un
m

om
ent

d’ordre
2

SSI
Z

+
1

�
1

(x
�

E
(X

))
2

f
X

(x
)

d
x

est
absolum

ent
convergente

SSI
Z

0

s
(x

�
E

(X
))

2
f

X
(x

)
d
x

adm
et

une
lim

ite
quand

s!
�
1

et Z
t

0
(x

�
E

(X
))

2
f

X
(x

)
d
x

adm
et

une
lim

ite
quand

t!
+
1

.

O
n

note
alors

U
(s,t)

=

Z
t

s
(x

�
E

(X
))

2
f

X
(x

)
d
x

et
on

rem
arque

que
:

(x
�

E
(X

))
2

=
x

2�
2E

(X
)x

+
(E

(X
))

2.O
n

en
déduit

:

U
(s,t)

=

Z
t

s
(x

2�
2E

(X
)x

+
(E

(X
))

2)
f

X
(x

)
d
x

=

Z
t

s
x

2
f

X
(x

)
d
x

+

Z
t

s
�

2E
(X

)x
f

X
(x

)
d
x

+

Z
t

s
(E

(X
))

2
f

X
(x

)
d
x

=

Z
t

s
x

2
f

X
(x

)
d
x
�

2E
(X

) Z
t

s
x

f
X

(x
)

d
x

+
(E

(X
))

2 Z
t

s
f

X
(x

)
d
x
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E
C

E
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R
em

arqu
e

•
O

n
peut

penser
cette

propriété
com

m
e

une
version

faible
de

la
propriété

de
linéarité.

•
La

propriété
de

linéarité
existe

m
ais

dem
ande

le
cadre

de
la

théorie
unificatrice

citée
précédem

m
ent.

D
éfi

n
ition

V
ariable

centrée

Soit
X

une
v.a.r.à

densité.

•
O

n
dit

que
la

variable
X

est
une

variab
le

centrée
si:

1)
X

adm
et

une
espérance,

2)
E

(X
)

=
0.

•
Si

X
adm

et
une

espérance,alors
la

v.a.r.
X

�
E

(X
)

est
centrée.E

lle
est

appelée
v.a.r.

centrée
associée

à
X

.

R
em

arqu
e

•
Soit

X
une

v.a.r.à
densité

adm
ettant

une
espérance.A

lors
on

a
:

1)
la

v.a.r.
X

�
E

(X
)

est
une

v.a.r.
à

densité
et

adm
et

une
densité

(cf
P

roposition
2).

2)
d’après

cette
m

êm
e

proposition,
la

v.a.r.
Y

=
X

�
E

(X
)

(Y
=

a
X

+
b

avec
a

=
1

et
b

=
�

E
(X

))
adm

et
pour

espérance
:E

(Y
)

=
E

(X
�

E
(X

))
=

E
(X

)�
E

(X
)

=
0.

•
C

e
type

d’opération
est

à
com

prendre
com

m
e

un
opérateur

de
norm

ali-
sation.P

our
dém

ontrer
certains

résultats,ilest
utile

de
se

placer
dans

le
cas

où
la

v.a.r.
X

est
centrée.O

n
ne

peut
supposer,en

toute
généralité,

qu’une
v.a.r.

est
centrée.

P
ar

contre,
on

peut
m

ontrer
le

résultat
sur

la
v.a.r.

centrée
Y

=
X

�
E

(X
)

puis
en

déduire
un

résultat
analogue

sur
X

.
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E
C

E
1-

B
20

15
-2

01
6

A
in

si
,o

n
a

:

U
(s

)
=

1 2

Z
p

s

0
u

(f
Y

(u
)
+

f Y
(�

u
))

(2
u

d
u
)

=

Z
p

s

0
u

2
f Y

(u
)

d
u

+

Z
p

s

0
u

2
f Y

(�
u
)

d
u

=

Z
p

s

0
u

2
f Y

(u
)

d
u
�
Z

�
p

s

0
(�

v
)2

f Y
(v

)
d
x

La
de

rn
iè

re
qu

an
ti

té
ét

an
t

ob
te

nu
e

gr
âc

e
au

ch
an

ge
m

en
t

de
va

ri
ab

le
:

� � � � � � �

•
v

=
�

u
do

nc
d
v

=
�

d
u

et
d
u

=
�

d
v

•
Si

u
=

0
al

or
s

v
=

�
0

=
0

•
Si

u
=

�
p

s
al

or
s

v
=

�
(�

p
s)

=
p

s

O
n

pe
ut

al
or

s
fin

ir
le

ca
lc

ul
.

U
(s

)
=

Z
p

s

0
u

2
f Y

(u
)

d
u

+

Z
0 �
p

s
v

2
f Y

(v
)

d
v

=

Z
p

s

�
p

s
t2

f Y
(t

)
d
t

=

Z
p

s

�
p

s
t2

f X
(t

+
E(

X
))

d
x

=

Z
p

s+
E(

X
)

�
p

s+
E(

X
)

(x
�

E(
X

))
2

f X
(x

)
d
x

�!
s!

+
1

Z
+
1

�
1

(x
�

E(
X

))
2

f X
(x

)
d
x

La
co

nv
er

ge
nc

e
es

t
ob

te
nu

e
pa

r
le

fa
it

qu
e

U
(s

)
ad

m
et

un
e

lim
it

e
fin

ie
en

+
1

(q
ui

es
t

V
(X

))
et

qu
e
p

s
+

E(
X

)
!

+
1

qu
an

d
s
!

+
1

.
La

de
rn

iè
re

ég
al

it
é,

qu
an

t
à

el
le

,a
ét

é
en

co
re

un
e

fo
is

ob
te

nu
e

gr
âc

e
à

un
ch

an
ge

m
en

t
de

va
ri

ab
le

:
� � � � � � �

•
x

=
t
+

E(
X

)
do

nc
d
x

=
d
t

•
Si

t
=

p
s

al
or

s
x

=
p

s
+

E(
X

)

•
Si

t
=

�
p

s
al

or
s

x
=

�
p

s
+

E(
X

)

D
’o

ù
le

ré
su

lt
at

.

26

E
C

E
1-

B
20

15
-2

01
6

I.
5.

V
ar

ia
n
ce

d
’u

n
e

lo
i
à

d
en

si
té

D
éfi

n
it

io
n

M
om

en
ts

d’
or

dr
e

r

So
it

X
un

e
v.

a.
r.

de
de

ns
it

é
f X

et
so

it
r
2

N
⇤ .

•
O

n
di

t
qu

e
X

ad
m

et
u
n

m
om

en
t
d
’o

rd
re

r,
no

té
m

r
(X

),
si

l’i
nt

ég
ra

le
Z

+
1

�
1

x
r

f X
(x

)
d
x

es
t

ab
so

lu
m

en
t

co
nv

er
ge

nt
e.

•
So

us
ré

se
rv

e
d’

ex
is

te
nc

e,
on

a
:

m
r
(X

)
=

E(
X

r
)

=

Z
+
1

�
1

x
r

f X
(x

)
d
x

R
em

ar
qu

e

•
Si

r
=

0,
on

a
X

0
=

1
et

do
nc

m
0
(X

)
=

E(
1)

=
1.

•
Si

r
=

1,
on

a
X

1
=

X
et

do
nc

m
1
(X

)
=

E(
X

).

•
Le

fa
it

qu
e

E(
X

r
)

pu
is

se
s’

éc
ri

re
so

us
la

fo
rm

e
d’

un
e

in
té

gr
al

e
n’

es
t

pa
s

év
id

en
t.

P
ou

r
le

dé
m

on
tr

er
,

on
pe

ut
co

ns
id

ér
er

la
va

ri
ab

le
Y

=
X

r
,

m
on

tr
er

qu
’e

lle
es

t
à

de
ns

it
é

f Y
et

dé
m

on
tr

er
pa

r
un

ch
an

ge
m

en
t

de

va
ri

ab
le

qu
e

:Z
+
1

�
1

x
f Y

(x
)
d
x

=

Z
+
1

�
1

x
r
f X

(x
)
d
x

(c
f

dé
m

on
st

ra
ti

on

du
th

éo
rè

m
e

5)

•
O

n
pe

ut
au

ss
i
ut

ili
se

r
le

th
éo

rè
m

e
de

tr
an

sf
er

t
(a

dm
is

).
So

us
le

s
hy

po
-

th
ès

es
:

⇥
X

v.
a.

r.
de

de
ns

it
é

f
,

⇥
g

co
nt

in
ue

su
r

R
pr

iv
é

d’
un

no
m

br
e

fin
id

e
po

in
ts

,

⇥

Z
+
1

�
1

g
(t

)f
(t

)
d
t

es
t

ab
so

lu
m

en
t

co
nv

er
ge

nt
e.

A
lo

rs
1)

la
v.

a.
r.

g
(X

)
ad

m
et

un
e

es
pé

ra
nc

e

2)
E(

g
(X

))
=

Z
+
1

�
1

g
(t

)f
(t

)
d
t
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+
T
out

sim
plem

ent
parce

que
l’espérance

de
la

v.a.r.
Y

=
X

�
E

(X
),si

elle
existe,est

nulle
(v.a.r.centrée).Le

m
om

ent
centré

d’ordre
1

ne
nous

fournit
donc

pas
d’inform

ation
sur

la
m

oyenne
de

l’écart
entre

X
et

E
(X

).

T
h
éorèm

e
5.

Soit
X

une
v.a.r.

à
densité

f
X

.
O

n
suppose

que
X

adm
et

une
variance.

A
lors

:

V
(X

)
=

Z
+
1

�
1

(x
�

E
(X

))
2

f
X

(x
)

d
x

D
ém

onstration.
N

otons
Y

=
X

�
E

(X
)

et
Z

=
Y

2
=

(X
�

E
(X

))
2.

O
n

a
vu

dans
la

rem
arque

précédente
que

si
une

v.a.r.
à

densité
X

adm
et

une
variance,

celle-cis’écrit
:

V
(X

)
=

Z
+
1

0
x

f
Z
(x

)
d
x

✓
=

lim
s!

+
1

Z
s

0
x

f
Z
(x

)
d
x ◆

C
onsidérons

alors
la

quantité
U

(s)
=

Z
s

0
x

f
Z
(x

)
d
x.O

n
a

alors
:

U
(s)

=

Z
s

0
x

f
Z
(x

)
d
x

=

Z
s

0
x

1

2 p
x

(f
Y

( p
x
)
+

f
Y

(�
p

x
))

d
x

=
12

Z
s

0

p
x

(f
Y

( p
x
)
+

f
Y

(�
p

x
))

d
x

O
n

effectue
alors

le
changem

ent
de

variable
suivant.

���������

•
u

=
p

x
donc

d
u

=
1

2 p
x

d
x

et
d
x

=
2u

d
u

•
Si

x
=

0
alors

u
=

p
0

=
0

•
Si

x
=

s
alors

u
=

p
s
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D
éfi

n
ition

Soit
X

une
v.a.r.à

densité.

•
Si

la
v.a.r.

X
adm

et
une

espérance
E

(X
)

et
que

la
v.a.r.

(X
�

E
(X

))
adm

et
un

m
om

ent
d’ordre

2,on
dit

que
X

ad
m

et
u
n
e

varian
ce,notée

V
(X

)
:

V
(X

)
=

m
2 (X

�
E

(X
))

=
E

((X
�

E
(X

))
2)

•
Sousceshypothèseson

appelle
écart-type

eton
note

�
(X

)
=
p

V
(X

)

R
em

arqu
e

•
Si

X
est

une
v.a.r.à

densité
alors

Y
=

X
�

E
(X

)
est

une
v.a.r.de

densité
f

Y
:
x
7!

f
X

(x
+

E
(X

))
(cf

transform
ation

affi
ne).

D
e

m
êm

e,
Z

=
Y

2

est
une

v.a.r.
à

densité
(cf

transform
ation

polynom
iale).

A
insi,

SI
X

ADMET
UNE

VARIANCE,l’opérateurespérance
évoqué

dans
cette

définition
est

l’opérateur
sur

les
v.a.r.à

densité
et

on
a

:

V
(X

)
=

E
(Y

2)
=

E
(Z

)
=

Z
+
1

�
1

x
f

Z
(x

)
d
x

=

Z
+
1

0
x

f
Z
(x

)
d
x

puisque
f

Z
(x

)
=

0
si

x
<

0
(cf

transform
ation

polynom
iale).

•
O

n
rem

arque
au

passage
que

l’écart-type
bien

définipuisque,si
X

adm
et

une
variance,V

(X
)
>

0.E
n

effet, Z
+
1

0
x

f
Z
(x

)
d
x

>
0

car
f

Z
est

une

densité
et

est
donc

positive
et

que
x
>

0
sur

l’intervalle
d’intégration.

•
La

variance
d’une

v.a.r.
X

consiste
en

le
calculdu

m
om

ent
d’ordre

2
de

la
variable

Y
=

X
�

E
(X

).C
ette

v.a.r.est
centrée.D

e
ce

fait,V
(X

)
est

définicom
m

e
le

m
om

ent
centré

d’ordre
2

de
la

v.a.r.
X

.

•
La

variance
(com

m
e

l’écart-type)
est

une
m

esure
m

oyenne
de

l’écart
existant

entre
X

et
E

(X
).

I
M

ais
alors,

pourquoi
m

esure-t-on
le

m
om

ent
centré

d’ordre
2

(=
m

oyenne
du

carré
de

l’écart
entre

X
et

E
(X

))
et

pas
sim

plem
ent

le
m

om
ent

centré
d’ordre

1
(=

m
oyenne

de
l’écart

entre
X

et
E

(X
))?24


